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The figures in the margin indicate full marks.
Candidates are required to give their answers
in their own words as far as practiable.

1. Answer any five questions : : 5%x2=10
(a) Write down the symptoms of Kwashiorkar. 2

(b) Differentiate between obesity and overweight.
1+1

(c) Write two sources of extraordinary sound. 1+1
(d) State the symptoms of iodine deficiency. 2
(¢) What is biological value of protein ? 2

(f) Mention the importance of essential fatty acid for
pregnant WOmen. 2
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(2) ;

(g) Mention one importance of diet management, 2 y

(h) What is meant by community heaith ? 2
2. Answer any four questions : 4x5=20
(@) (1) What is ‘noise’ ?

(i) Write down the impacts of noise pollution in
community health. 243

() () Give a brief account of the dietary sources
of iodine, 3+2

(@ How iodine is related with development of

hyperthyroidism ? I
(¢) @) Mention the principal causes of Type I and
Type I diabetes mellitus.

(@ How management of diabetes mellitus can
be done through dietary intervention ? 1+4

(d) @ Write down the nutritional value of fish in
diet.

(@ Mention the importance of dietary fibre in
diet. 2+3



3. Answer
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Differentiate between community health and
public health.

What is noise index ? Mention it’s
significance. b2 g

Write down the importance of iron in human
body.

Mention in brief the dictary management for
athletes. 2+3

any one question : 1x10=10
Formulate a balanced diet for growing child.

Write down the principle of formulation of
diet of a lactating woman. 5+5

State the importance of caloric requirement.

Differentiate between undernutrition and
overnutrition.

“Fat is said to be protein-sparers” —
Explain. 3+H(2+2)+3
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